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Cell Name Cell value Formula Status Slack
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$D$8 Demand #2 Used 21 $D$8<=$F$8 Binding 0

$D$9 Demand #3 Used

18 SD59>=5F$9 Binding 0

i

S XA %
Microsoft Excel 12.0Limits Re
Worksheet: [LP.xIsx)lecture2

port

Report Created: 02/11/2010 16:53:52 PV

Target
~ Cell Value
$DS4 Unit Cost Total Profit -30
Adjustable Lower Target Upper Target
Ceall Name Value Limit Result ‘Limit  Result
S$B53 Units to make X 411/13 411/13 -30 411/13 -30
SC$3 Units to make ¥ 12/13 12/13 -30 12/13 -30




z3

5{7 1 5 - o
Microsoft Excel 12,0 Sensitivity Report
Waorksheet: [LP.xIsx]lecture2
Report Created: 02/11/2010 16:53:51 PM

Target Cell (Min)
Cell , Mame Final Value
_ SD%4 Unit Cost Total Profit -30

Adjustable Cells

Final Reduced Objective Allowable Allowable

Cell Name Value Cost Coefficient Increase  Decrease
5BS3 Units to make X 4 11713 0 -10 14.44444444 - 1E+30
5C53 Units to make Y 12/13 0 . 20 1E+30 43.33333332

Constraints

Final Shadow Constraint Allowable Allowahle
Cell Name Value Price R.H. Side Increase Decrease
$DS7 Demand #1 Used 10 8/13 o 4 6.615384615 1F+30
SDS8 Demand #2 Used 21 -10 - 7] ' 5.375
$D59 Demand #3 Used 18 16 18 7.8318181818 L |

Min -10X+20Y

s. 1. 2X+ Y =4 (1)
3X+7Y <=21 (2)
2X+9Y =>18 (3)
X, Y=0 (4



